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Exam 3 - MAC 2311

Important Rules:

Fall 2014

1. Unless otherwise mentioned, to receive full credit you MUST SHOW ALL YOUR WORK. Answers which are
not supperted by work might receive no credit.

2. Please turn your cell phone off at the beginning of the exam and place it in your bag, NOT in your pocket.

3. No electronic devices {cell phones, calculators of any kind, etc.) should be used at any time during the
examination. Notes, texts or formula sheets should NOT be used either. Concentrate on your own exam. Do not
look af. your neighbor’s paper or try to communicate with your neighbor. Violations of any type of this rule will

lead to a score of 0 on this exam.

4. Solutions should be concise and clearly written. Incomprehensible work is worthless.

1. (16 pts) Compute each of the following limits:
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2. (8 pts) True or False questions. No justification needed. 2 points each.

(a) Tf f'(xo) = O then zg is relative maximum or a relative minimum for the function f(z). True
(b) K f(2) =0 and f"(2) > 0 then f has a relative minimum at @ = 2. False

(c)} If F/(z) < 0 for all z € [a,b], then & = a is an absolute maximum for f(z) on the interval [a,5]. False
(d) If f’(z) = 0 for all z € R, then f(z) = mz -+ b for some constants m and b. False

3. (24 pts) Find the indicated antiderivatives:
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5. (14 pts) You are asked to make a cylindrical can with a glven volume of 817 ¢cm®. The top and the bottom of

the can should be made from a material that costs 3 cents per cm?, while the side of the can should be made from
a material that costs 2 cents per ecm?. Find the dimensions of the can (radius and height) that will minimize the
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(12 pts) (a) (4 pts) State the Mean Value Theorem.

S hwous O« (4 A é[e ow (‘i‘ e.,)
f[£ £@) s ookt (2 4\ aud emal‘:[u’(_ %

e B (qf QQM-(—) ot ee @t So
:@( \ - {(& -éEQ)

(b) (8 pts) Verify that the hypothesis of the Mean Value Theorem are satisfied for the function f(z) = 1/ on the
interval [1, 4], and find the value(s) of c € (1 4) that satisfy the conclusion of the Theorem.
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7. (14 pts) (a) (8 pts) Suppose an object is moving on a straight line with constant acceleration a. Use integration
to find the formulas for the velocity v(t) and the position s(¢) of the object at time ¢.

(b) (6 pts) A baseball is thrown straight upward from ground level with an initial velocity of 96 ft/s. Does
the baseball reach the top of a building 160 ft tall? Use part (a) to justify your answer. Assume gravitational
acceleration g = —32 ft/s2.

(*) al=a = v#=< &Q dt =atec \a{u&\x&{v ’

V(o) = 04 c = €= Wo)=Vo

SH\= &\9({-\ At = &Q{. H.acJ At = %L ot e &

Q.‘\‘ s o %(o) =0 +0+¥ =" T = Se)=3S,
— - i
’Y(ws) S&) = %.f_ e ugt +'Sb,\
(R}\ Q= g=- 3). , No= 26 | o= O (&:L\%%,La({ NS a“ammd”eue[)
D avdewnia kea&{ o afladed whow <W = wl)= O
co -k +6=0 oy of ko3 B ball has wax Lerlf
f ) = -1 v S6rs < (ot fh Tows ta Lall does ek Goff
A‘."'ﬁ"“ﬂ*‘s\lc so( use ug,obqi& gop {Q '5[19(4} “ﬂj}a‘"
60 = -6k + 96t lway wo m{ soltion




8. (20 pts) The steps of this problem should lead you to a complete graph of the function f(zx) = z2e~",

Where indicated, work should be shown below, or on a separate sheet of paper.

(a) (2 pts) The domain of this function is M"
L
(b) (3 pts) Thg derivative, in factored {orm, is f'(x) —€ RN g wark.
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() (3 pts) Critical points of f (if any): x = . Show work.
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(d) (3 pts} Do a sign chart for f' and mark the intervals where f is increasing, respectively decreasing.
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(f) {5 pts) Using all the previous steps, sketch the graph of f(x) = 2?e™*. Label on the graph the coordinates of
critical points (if any) and also specify the type of the critical point.
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Bonus 2pts: 1 did not ask you to do the analysis of the second derivative. Without COEPuting the second derivative,
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